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Note: This question paper contains two parts A and B.
Part A is compulsory which carries 25 marks. Answer all questions in Part A. Part B

consists of 5 Units. Answer any one full question from each unit. Each question carries

s 1Q marks.and may-have-a;.b as sub questions. R
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(25 Marks)

l.a)  Give the statement of Thevenin’s theorem. [2]
b)  What is forced reponse? (2]
¢)  What is the admittance of parallel RC circuit? [2]

“. i) /Whatarethe dudlelements for RiLandCE /% - et 3
g)  What are the reasons for transient response in a system? [3]
h)  Define RMS value. What is its significance? 3]
i)  What is convolution integral? What is its significance? 3]
j)  What is a symmetrical network? What is the condition? [3]
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(50 Marks),
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E.a) *With an eé(amplia, E}:'pi-'éi'iﬁ"—fsuper[;ositi"br-i"'fﬁéorem i gttt
b)  Using Nodal analysis, find V and I in the circuit shown in figure 1. [5+5]
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Figure: 1
OR
With an-example, Explain reciprocjty theorem in detail. -,

The ihevenin equivalent-of the retwork -shown jn Tig series w1t§1a

/resistinee of 2 €. Ifnow; resistance of*5-Q is connected-atross AB, find-tle thevenin® “--"
equivalent of the modified network across AB. [5+5]

Network




4.a) Derive the expression for the complete response for the voltage across resistor in series

RC circuit excited by DC supply. |
t t=0.

[5+
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5.a)  Derive the expression for the complete response for the voltage across inductor in series

RL circuit excited by sinusoidal supply
b) Inthe circuit shown in figure 4, the switch S is opened at t=0. Prior to that, switch was

closed. Derive the current i(t) for t>0 [5+5]

6.a) Derive the relationship between phase and line voltages in three phase star connected

balanced system.
b) A coil takes a current of 3A from a 12V d.c supply, when connected to a 240V, 50Hz

supply the current is 20A. Find the resistance, inductance and impedance of the coil at

20 50 HZ ; ....... ’ i [ S +5]

S | { e = ; OR ......

“74a) ‘Derivé the expréssioh for RMS value ‘of ti‘igngulaf waveforin whose peék"'w-i]’he io T,
b) Each phase of a delta-connected load comprises a resistance of 302 and a 30 uf
capacitor in series. Determine active power, reactive power and apparent power that

will be consumed by the load when connected across a 415V, 50Hz, 3 phase supply.
[5+5]




-9.a) Draw thefpircuit‘__d'iégﬁém of series-:‘fRiLG'__ cireuit. qu:n}fi‘q fhe 0@nditioﬁ..

“b) ‘Considerthe cirtuit shown in figure 6, ifi(0)=2A then'fifrd the expressiorifor vo (t)for *

8.a)  Explain the properties of Laplace transforms in detail.
b)  Find the resonant frequency for the circuit shown in figure 5 and also find the current at

that frequency. [5+5]

Figure: 5
£ OR e,

j r resonance.

t>0 using laplace transforms. [5+5]
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Figure: 6

10.a) Explain the procedure g_f‘_ﬁnding impedance parameters _Qf__a two port network withan

/Twg “identical circuits. 41l

[5+5]

N g“re'7

11.a) Explain the procedure of finding hybrid parameters of a two port network with an

example.
b) For the circuit shown in figure 8, find the admittance parameters. [5+5]




